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#include <stdio.h>
#include <math.h>

/*--- BEDSETEHETOTI ---%/
#define TO 0.0
#define T1 20.0

/*—-— PEMEDRE ---*/

e e
Gk W N = O ©

#define XO 1.0
#define YO 0.0
#define ZO 0.0

/*=== (TO, T1)DREEH ---x/
#define N 1000




16 | /x--- FRAGD f(t,z,y,2), g(t,z,y,2), h(t,z,y,2) DRE ---+/

17 | double f(double t, double x, double y, double z) { return -10 * x+10*y; }

18 | double g(double t, double x, double y, double z) { return -z*x+28%x-y; }

19 | double h(double t, double x, double y, double z) { return x*y-(8/3)x*z; }

20

21 | /*--- XA VEB ---x/

22 | int main(void)

23 | {

24 int i;

25 double dt; // AHi@

26 double x, y, z; // E{EE

27 double t; // B

28 double k_1, k_2, k 3, k_4,1_.1,1_.2,1.3,1_4,j_1,j_2,j_3,j_4;

29

30 dt = (T1 - TO) / N;

31

32 /* MEEDEE +/

33 x = X0;

34 y = YO;

35 z = Z0;

36 t = 0.0;

37

38 printf ("%6.4f %16.14f %16.14f %16.14f \n", t, x, y, z);

39 for (i = 1; i <= N; i++)

40 {

41 t = TO + i * dt;

42

43 k_1 = £(t, x, y, z);

44 1.1 = g(t, x, y, 2);

45 j_1 = h(t, x, y, 2);

46 k.2 = £(t + dt / 2.0, x + dt * k_1 / 2.0, y + dt * 1_1 / 2.0, z + dt * j_1 / 2.0);
47 1.2 = g(t +dt / 2.0, x + dt *x k.1 / 2.0, y + dt *x 1.1 / 2.0, z + dt * j_1 / 2.0);
48 j_2 = h(t + dt / 2.0, x + dt * k.1 / 2.0, y + dt * 1.1 / 2.0, z + dt * j_1 / 2.0);
49 k.3 = f(t + dt / 2.0, x + dt * k.2 / 2.0, y + dt * 1.2 / 2.0, z + dt * j_2 / 2.0);
50 _3 =g(t +dt / 2.0, x +dt *x k.2 / 2.0, y + dt * 1_2 / 2.0, z + dt * j_2 / 2.0);
51 j_3 = h(t + dt / 2.0, x + dt * k.2 / 2.0, y + dt * 1.2 / 2.0, z + dt * j_2 / 2.0);
52 k.4 = f(t + dt, x + dt * k.3, y + dt * 1.3, z + dt * j_3);

53 1.4 = g(t +dt, x + dt * k.3, y + dt * 1.3, z + dt *x j_3);

54 j_4 = h(t + dt, x + dt * k.3, y + dt *x 1.3, z + dt * j_3);

55

56 x =x +dt / 6 * (k_1 + 2.0 * k_2 + 2.0 * k_3 + k_4);

57 y=y +dt / 6 *x (1_1 + 2.0 * 1.2 + 2.0 *x 1.3 + 1_4);

58 z =12z +dt / 6 *x (j_1 + 2.0 *x j_2 + 2.0 *x j_3 + j_4);

59

60 /% &RAT v TTORL, ELUE (RS z, RDy) DRE */

61 printf ("%6.4f ’16.14f %16.14f %16.14f \n", t, x, y, 2);

62 }

63 | }
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